
B DETAIL B 
SCALE 1 : 4.5

5

6

7

2

1

8

3

4

"A" positions

"B" positions

Fig. 2

A A

A

A

A

A

B B B

B BAA B

Fig. 1

D

1/4" Max.

DETAIL D 
SCALE 3 : 4

Fig. 3

Glide assemblies without Restraint 1.
Rings are to be located at positions 
indicated by "A" (Fig. 1).  Restraint 
Ring/Glide assemblies should be 
located at "B" positions.
Assemble the components in the 2.
sequence shown in (Fig. 2).
Maximum of 1/4" space between 3.
hex nut and Glide nut (Fig. 3).

ITEM 
NO.

PART 
NUMBER QTY DESCRIPTION

1 029-022 6 Glide 5/16"-18 X 1.5" Hex Collar Stem
2 029-023 8 Glide Assembly, 1" Stem
3 029-132 6 Ring, Restraint, Solid Bolt Down, (Optional)
4 029-021 14 Nut, Barrel 5/16"-18 X 0.75”L, BH, Pin in Torx® T45, SST
5 025-009 8 Washer, Flat, 3/8"
6 026-002 14 Washer, Fender, 11/32" ID x 1-1/4" OD x .050 Zinc
7 025-006 14 Washer, Lock, Split, 3/8, Zinc
8 025-010 14 Nut, Hex, 5/16-18 Steel, Zinc

Rev. B - 3/6/14
091-758 Page 1 of 1

www.norix.com ● TEL 800 234-4900

Assembly Notes: Norix is not responsible for any damage due to improper installation.  If your shipment does not match the parts list, please contact Norix Customer Service at 800-234-4900.
                                  Norix reserves the right to modify design specifications at any time without an obligation to owners of previously sold products.
 ___________________________________________________________________________________________________________________________________________________________________________________________________

Restraint Ring/Glides Kit
Assembly Instructions

Model Number
ATN-G104


	Sheet1
	Drawing View1
	Detail View B (1 : 4.5)
	Drawing View11
	Drawing View12
	Detail View D (3 : 4)


